UNIT 10: RECYCLING

GRAMMAR: THE PASSIVE AND ACTIVE SENTENCES

I. Identification:
· Active sentence:    Mrs. Mai teaches English.

· Passive sentence:   English is taught by Mrs Mai.

II. RULES:
a) Form:
[image: image2.jpg]Active:

Passive:



      

· Notes: 

· VA: Verb Active

· VP: Verb passive

· PP: Past participle ( V3/ed)

· Be: phải chia theo VA và S trong câu bị động

b) TENSES:

	ACTIVE
	PASSIVE

	1/ Simple Present

( S + V + O )
	S + am / is / are + pp + by O

	2/ Present continous

( S + am / is / are + V-ing + O )
	S + am / is / are + being + pp + by O

	3/ Present perfect

( S + have / has + pp + O )
	S + have / has + been + pp + by O

	4/ Simple past

( S + V2/ed + O)
	S + was / were + pp + by O

	5/ Past continous

( S + was / were + V-ing + O
	S + was / were + being + pp + by O

	6/ Simple future

( S + will + V-bare + O)
	S + will + be + pp + by O

	7/ Be going to

( S + am / is / are + going to + V-bare + O)
	S + am /is / are + going to + be + pp +by O

	8/ Modal verbs

( S + Modal verbs + Verb-bare + O )
	S + modal Verb + be + pp + by O


· Notes: 

· Trong câu Passive, “ by O” luôn đứng trước trạng từ chỉ thời gian ( Adverb of time) và đứng sau trạng từ chỉ nơi chốn ( Adverb of place )

Ex: He was found  in the forest   by the police    this morning.

                      Adverb of place            by O             adverb of time

· Trạng từ chỉ thể cách ( Adverb of manner ) thường đứng giữa “ be và past participle”

Ex:  The scientists have studied the problem carefully.

       → The problem has been carefully studied by the scientists.

                                         Adverb of manner

· Trong câu Passive, nếu object không xác định hoặc không rõ ràng thì ta có thể bỏ 

   ( by people, by us, by them, by someone, by him, by her….)

PRACTICE

· Change these sentences into the passive voice:

1) The cat eats the little mouse.

( The little mouse 

2) Bell invented the telephone.

( The telephone 

3) The Queen will open the new hospital.

( The new hospital 

4) The boss has treated them badly.

( They 

5) His children are carrying the chairs into the house.

( The chairs 

6) They may give you the result soon.

( You 

7) Mr. Brown wrote the report yesterday.

( The report 

8) The engineers are going to build the bridge.

( The bridge 

I. Write sentences with it and an adjective followed by to-infinitive.

It is + adj + to infinitive/ to V(b.f)
1. Buy a Complex computer. It isn’t expensive.

( It isn’t expensive to buy a Complex computer.

2. Using the computer is simple.

( It’s 


3. Learning Spanish is difficult.

( It’s 


4. Understanding the handbook isn’t difficult.

( It’s 


5. You can run any kind of software. It is easy.

( It’s 


6. Exploring the world of Personal Computer is fascinating.

( It’s 


II. Combine each pair of the sentences, using the adjective + noun clause.
 S + be + adj + that clause
1. I can’t go to Vung Tau with you. I’m sorry


( I’m sorry that I can’t go to Vung Tau with you.
2. I was very happy. I got good grade this semester.


(

3. He knows the answer. He is delighted.

(


4. We saw you in town. We were surprised.

(


5. They passed the entrance examination. They were very happy.

(


6. You didn’t pass the English exam. Your parents were very disappointed


(

III. Use the correct form of the words in brackets:
1) Reduce means not buying products which are ___________. (overpackage)

2) Air is a ___________ of gases. (mix)

3) Waste paper can be ___________ after being recycling. (use)

4) The country’s ___________ resources include forests, coal and oil. (nature)

5) Mary is very ___________ about her mother’s health. (anxiety)
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